Final proofreading

Requested change: In Equation (A7), the “A” of “EA” in the denominator needs to be omitted.

Comments to the typesetting remarks:
	Remarks
	Replies

	TS6: Please give an explanation of why this needs to be changed. We have to ask the handling editor for approval.



	EA is the activation energy for the JMAK model (Eqs. (A2) to (A5)). For the distributed activation energy model (Eqs. (A6) and (A7)), the energy E and the mean of the activation energy distribution, E0, are used.
In (A6), the “EA” in the denominator is a typo and “E” is the term to calculate the integral correctly.




